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Y 01 : S YTET H b ... Hi (The founder of ‘Scientific

management’ is ----- )

() TeaH 9T (Elton Mayo) @) faferam (William)

(T) Shefteh goq]. TA(F. W. Taylor) (%) 379 ¥ 1S el (None of these)
¥ 02 : F1 & & 6 el e o1 1 el ® (Which of the following is not a function

of management) ?

(%) f=SH (Planning) (@) W3t (Counselling)

(M) TRIRFFTT (Staffing) (1) FE3 (Directing)
¥ 03 : STIISH T JLIT = : (Organizing aims to serve:)

() 9THT (common purpose) (@) ¥SI=I (corruption)

(T) SITFRTOT TEEHT (authority structure) (%) 39IH At (All of the above)
¥ 04 : ST S11enfia @ (Planning is based on:)

(%) Tl W (Decision-making) (@) @A T (Forecasting)

() FRIfeReRtoT W (Staffing) (5T) T3 W (Organising)

T 05 : FAfefad § € s 91 Yo gl il 71a G91eE died S GETeEi S aaan
YT ﬁﬁﬁﬁ AT & 2 (Which of the following managerial functions ensure
maximum utilization of all resources including human resources?)

(%) TR=I=1T (Controlling) (@) fF=SH (Planning)
() g (Leading) (1) FIS3 (Directing)



T 06 :

Y e T
(et <ff ST o Seat difST) (37 05 x 03 =15)
T AT & ? T shl Teh(cT T 9&id § Jooid shifst | (what is management ?

Explain the nature of management briefly.)

Y 07 : TSt ot fariwaratt st el fifsr | (Describe the characteristics of planning.)
I 08 : AT GRT T o RIT AT 8 2 (What are the advantages of management by

09 :

10 :

11

12

I+ 13

U 14 :

I 15

objectives?)
TETETH | ST T THEA § 2 YaigH 3§ forwrearet s ity A |
(What do you mean by forecasting? List some characteristics of forecasting.)
Far Uk Td ek w8 | HEEy | (‘Control is a universal function.’
Explain.)
el Seatiar g

(Feregt i w9t 3 Sea i) (379 15 x 03 =45)
TG Toremem o forehre o fafer aeaaeTa gfentolt sht ferer=rmt IfSiT | (Discuss
various traditional approaches to the development of management
philosophies.)
s =R 22 Frai St fsham st SeTetor ufed Tuese | (What is planning?

Explain the process of planning with examples.)

. ATRIHRT T TATATST AT 82 AR oh TATASTT bl THTIIT H el dedl hid-

I ¥ 82 (What is delegation of authority? What are the factors affecting the
delegation of authority?)

feramefreraror o a1ef TwETRU | favTiereRter & T ST U weeE i oo
FifT | (Explain the meaning of departmentalization. Explain the main bases

and significance of departmentalization.)

- fafsr=r frrror qeftent &1 avia St 3erewr afed ST | (Describe the various

control technique with appropriate examples.)
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(@ft T 3 IR EfST) (37 02 * 05 =10)
T 01 : WSHTCH &< § UTd SIagR T 378994 2: (A study of human behaviour in
organisational settings is:)
(%) SARKTT e (Individual behaviour)
@) ST STTER (Organisational behaviour)
(M) ¥HE =39 (Group behaviour)
(91) 3T ¥ aIg Te1(None of these)
¥ 02 : Gord fshan o forer =or § Ter fewar 22 (In which stage of the conflict

process does conflict become visible?)

(%) Y819 (Illumination) @) ferT (Intentions)
(T) FEEK (Behaviour) (51) @ (Cognition)
T 03 ; ST T SRS forgra ST EATierd foRaT 9T 97 | (ERG theory
of motivation was proposed by J)
() AR (Maslow) (@) T, EStent (F. Herzberg)
() &% IR (Mc Gregor) (1) ITTSTH(Alderfer)
04 : Bﬁi‘vﬁﬂr_or % ¥ H off SITHT ST 2 | (Free rein leadership is also
knownas )
(%) AR A Democratic) (@) T A I Autocratic)
(IT) ATE At (Laissez-faire) )] EIEZ U] (Bureaucratic)



e 05 ; T o @ i = fafe/fafem o6 suanT stacae ®9 €@ STaag foaTe & &

I 06

07 :

T 08 :

109 :
TR9 10 :

11

12

A 13

T 14 :

15

A o foTu {3 ST 22 (Which of the following methods is/are used to
solve intergroup conflicts indirectly?)

() qiER (Avoidance) @) FIREIRE] (Encouragement)
(T) aTSit (Bargaining) (51) STRH T (Al of these)
Y e T

(et <ff ST o Seat difST) (37 05 x 03 =15)

- TTSTcH e shi farsisraret st guiT i | (Describe the characteristics of

organisational behaviour.)

TATSTCH Tehid FT & 2 T shT TISIoTSTl o7 Sooid ISty | (What is
Organisational Culture? Mention the characteristics of culture.)

SATTIRT T 29 STIRTITOT <hT AT AR 22 (What is Motivation? What is the
importance of motivation?)

Teh 3= AdT & ﬂﬂﬁ T Ioehg il | (Mention the qualities of a good leader.)
Teh ToHTcH: 999 @ia o foTu e 3uanfl gar ® ?( How is a creative conflict

useful for organizations?)

&rel Seadig v
(Formet i It 3 St €IfSTT) (3T 15 % 03 =45)

TSATCHe, SIIER | 1T T T &2 WISTcHT TR 3hl o IR FIT 82
(What do you mean by organizational behavior? What are the basic concepts
of organizational behavior?)
Hfchea ! TRUTNG IV | fchcd o fosh &l SvIfad & aTel =eehi 1
oo i | (Define personality. Explain the factors that affect the
development of personality.)
ST 3T 2 2 STRTIROT & STTeIvIheT-UaTIsRY g il samea SIfSTT | (What
is motivation? Explain the hierarchy of Need theory of motivation.)
e W ST T AU & 2 U TS | 36k Heed W Jeh1eT STAT | (What do you
mean by leadership? Highlight its importance in an organization.)

F1 gaTa T 27 FH T o HRON T Seoid HITT | (What is work pressure?

Explain the causes of work pressure.)
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T 01 : el €ThIT T JaTe shl TRTIAT LT & (Management accounting assists the
management:)
(=) et fomor & (Only in control)
(@) aet f963= & (Only in direction)
) Faet fea (Only in planning)
() s, fdr o foraror ﬁ(In planning, direction and control)
¥ 02 : Fferfaa # & 6 a1 v @ 3R =y i @ o fegmn Sar 22 (Which of
the following item is shown in profit and loss appropriation account?)
(=) RURRESIRIN (Dividends declared)
@) IR ST R | < (Discount in issue of shares)
) W ufErey @ (Non-operating expenses)
() AU gufd (Current assets)
¥ 03 : Freferfad & & 19 |1 g AT 1 ary 22 (Which of the following is an
advantage of standard costing?)
(%) |9 S&ICT (Measuring efficiency)
) NIUGREEEW] ﬁﬁﬂT(Facilitates cost control)
(1) 98T (ﬁqf_vﬁT) 1 fertor (Determination of variance)
(1) 3UYeh @t (ALl of the above)



T 04 :

Tk FTEE I U HT .o %mﬁwﬁwﬁwmm%qhe assets of a
business can be classified as ............... )
(=) EERECERELIRDI (Only fixed assets)
@) éromaﬁnﬂ YT (Only current assets)
(T) 39 T a9 GUfi(Fixed and current assets)
() 30 4 i off T (None of the above)

T 05 : [ ATH ITITA [E AT T ... Edl W% | (The net profit ratio is the ratio

3T 06 :

TT 07 :

3T 08

Y3709 :

Y110 :

of net profit to ............... )
(%) STE Tha foTshl (Net cash sales) (@) ‘{[T&'av'%?%'sﬁ(N et credit sales)
(T) Y[& F folshT (Net total sales) (o) IERIEK) 9Sft (Capital employed)

Y ek I9
(Foreel 7 At o 3t AifSTT) (37 05 x 03 =15)

TSI R AGTH FIT ¥ ST TIRIwarsty 1 oo A | (What is managerial

accounting? Explain its features.)
Feted) FrermT it ek fHRaTstt o & | 9T et 82 (What is the role of

budgetary control in the field of business operations?)

- U 37t forfar foramor o6 farsiwarsty 1 3ot e | (Explain the features of an

ideal financial statement.)

gy-faese fasgwor ar 22 3@t o g 22 (What is break even analysis?
What are its limitations?)

1 oFaf § i AT A 15,000 TR T 20,000 IH1EAT o fIT 40,000 €. T
50,000 ¥. ¥ | et @ ufd 3ot fohat @ 3 feer @ foraet 22 (In two
periods, total costs amount to Rs. 40,000 and Rs. 50,000 against production of
15,000 units and 20,000 units respectively. How much is marginal cost per

unit and how much is fixed cost?)

TF11:

12 :

T 13

T 14 :

W15

&l et Iv
(ot o ST o e ST (37 15 x 03 =45)
Ffafad el & aiEred Brarstl 8 e YaTg i TMT 1T (Calculate

cash flow from operating activities from the following information:)

Particulars 31.03.2006 31.03.2007
F9 (Rs.) F9 (Rs.)
ATI-BT @l (Profit & Loss A/C) 30,000 1,08,000
TR (Debtors) 30,000 24,000
TR (Creditors) 15,000 12,000
T 9T (Bill Receivables) 6,000 7,500
<7 fore (Bills Payables) 24,000 15,000
e =¥ (Outstanding Expenses) 480 600
TSI 31 (Accrued Income) 3,600 4,200

TSI AGTRT oh STHT 11_0[ TRl T e Eﬁﬁl'q | (Mention the tools

and techniques managerial accounting.)

: ST AT 87 TS e ST T 2 (What is the budgeting? What are the

key principles of budgeting?)
I YaTe forewor 9 22 i YaTe forawor fore e ues Suit dehieh 87 (What is

the fund flow statement? How is the fund flow statement a useful technique?)

- Yehg-aTe faawor st aftsifya HifSTT | Tehe-vae faeror fore gerr dame foram St

27 (Define Cash Flow Statement. How is cash flow statement prepared?)
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TR 01 : T Goh1T STARITH |HA: ST ... o |1 AT THgTd o ThI
! Tefd T ® (Managerial economics generally refers to the integration of
economic theory with business ............... )

(%) Afchar (Ethics) (Q) YeT& (Management)
(1) ¥R (Practice) (51) STRH T (Al of the above)

9% 02 ; frferfaa o @ @i i ffer et o1 o6t amae <y fafRr 72 82 (Which of the
following methods is not a method of measuring national income?)
() JeqTe TR fafer (Production computation method)

(@) 3™ AT {3 (Income computation method)
S))] e st fafer (Redundancy budget method)
CIEE o farfey (Expenditure computation method)
¥ 03 : HHTd STAAGT (THY) Ioh SR BT R .o (Marginal Utility (MU)
curve is always ............... )
() X-37&] o FHMTT (Parallel to X-axis) (@) FTRAT §3TT (Falling)
(T) 33T g (Rising) (1) Y -37&T 3 FHMTR (Parallel to Y-axis)

T 04 : Fefafiaa o @ for samam-=rsh st staee & 7T ST @ehdT 82 (Which of the

following cannot be considered as a state of the trade cycle?)
(%) "=l 37T (Recession state) @) @-@ﬁﬁ (Inflation)
(1) GTecATT SHIEAT (Resurgence stage) () H‘E@’ HAIEAT (Prosperity state)



Y 05 : BT YA T IcqTied I 8 (Goods produced on small scale have:)

T 06

07 :

T 08 :

T 09 :

T 10 :

11

12

) St &Tehd NIERES 34&1%? (Relatively inelastic supply)
@) Tcafus AeER Nltﬁ (Highly elastic supply)

S))] tEf?I’ﬂT AER ?ﬂTC]_ﬁ (Perfectly elastic supply)

(91) $T° © I% 81 (None of the above)

Y e T
(et <ff ST o Seat difST) (37 05 x 03 =15)

- JE T AT o STl hl ST FIRTT | (Discuss the responsibilities

of managerial economist.)

SUATAT fershwor qerm STt arsh forsywor & s ToT=ar, € (What are the
similarities in utility analysis and indifference curve analysis?)

AT IR o THeieh deal o1 i iy | (Explain the determinants of cost
behavior.)

% o TR ol [HETRE T Tl T1eehi T Iooid i | (Explain the factors
determining the size of firm.)

TSHTR AT 22 178 o TSR fagrd &1 avi il (What is employment?

Describe Keynes's employment theory.)

el Seatia e
(ToRme T AT o It SIS (373 15 x 03 =45)

Te GhI ST T Tepfd U & shi foa=T ShifTe | g TormTa srefere © foret
YR =T 27 (Discuss the nature and scope of managerial economics. How
does it differ from traditional economics?)

HITT T A T & FH kel HIIT ST &2 37 Heehi T foded hifse i o 71T &t
are fft 2t | (What is the elasticity of demand? How is it measured?
Discuss the factors on which the elasticity of demand depends.)

T 13 : ATIHIAT ANTAT § 3T T THT 87 ITThToA M ANTAT T IS8T o [T Aged

9 14

T 15

9d1z¢ | (What do you mean by short term cost? Explain the importance of
short term cost to the management.)

. AT ot gReTivd hifsre | Srearfererr it foaRisarett 1 Seoi@ HifST |

(Define oligopoly. Explain the characteristics of oligopoly.)

- Uk oFT ST STefeTaweT B U 311 o Haed ol fore=mT Shifee | Tsdir o1 A

&I - fafmt €2 (Discuss the importance of national income in a
country's economy. What are the methods to measuring national income?)

AR AR
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AT : 03 T quies : 70
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Seadia Iyt o | 03 U941 o Sea? g |

TgfaReda T9T

(@t T 3k I AR (37 02 x 05 =10)
T 01 : A= B ¥ I G T aTaT foRaT | SG H B WL 7T | 91T 31 98 3199 (A
promised to marry B. Later on B died. This contract of marriage)
(%) I[ &I STRATT (becomes void) (W) ET & & I © (is void from very beginning)
(M) AU (is valid) (1) 3T AL & (s illegal now)
S 02 : HTEA Sl ToTshl o ST e o Ty Tga T fohT ST oI 3 WX |aHd aeqetl ol el
ST 2 (The goods identified and agreed upon at the time a contract of sale
is made are called:)
(h)ETITOT HcT (Ordinary goods) ) fafde ot (Specified goods)
(‘T)C‘HE[FL%?T HTT(Scheduled goods) (%) T G FIE TRl (None of the above)
YT 03 : I8 363 foreeh fore drgie &1 e forar ®, a7 292 (The purpose for which
partnership is formed is:)
(%) TSI 2T (Political purpose) (&) TTHIRTE 3839 (Social purpose)
M 1 et 2w (Altruistic purpose) (&) EIEEIIEED W(Business purpose)
9T 04 : T & & Rl 9T gEdraS U TSt st grr frme strae & arer T s s
T o for sfamd 72 22 (Among the following which documents are not

mandatory to be submitted to the registrar along with incorporation application
by a private company?)
(=) q\_rﬁ"jn'_cf FTTer 371 3UHH T YdT (Addresses of Registered office & undertaking)
(@) 3UshH 3R 13.L3'|°TEh'f1%:|E|'{'UT(Under“taking and statement of capital)
M t[\EﬁEhT Toraron 3 fgsment Y H\Eﬁ (Statement of capital & list of directors)

(51) $T9 IS &1 (None of the above)



T 05 - FT9A-9 o fefarRad we § @ i a1 afafdd 72 foram S aerar 22 (Which of the

following clause of Memorandum of Association cannot be altered?)
() FH (Name) (@)fera-wmfi(Object)
() uftRerfd (Situation) (5T) 33T (Liability)
Y Jeakr T T9T
(Foreel i It 6 St AifSTT) (376 05 % 03 =15)
T 06 : I fRAFEd &2 TEAT T Tk 94 ST o 1Tk deal I HHSST | (What is a
contract? Explain in brief the essential elements of a valid contract.)
T 07 : a%g Tk agaaéwﬁﬁw ¥ foh el ST BT ST & 2(What are the essential
elements in the formation of the contract or sale?)
T 08 : |TSIGRY Y afearsT S | WrSier % STy e I § ?(Define partnership.
What are the essential elements of a partnership?)
YT 09 : HEEAT %W%WWWQWW%WWWW | (Explain the
types of registered companies the basis of responsibility of members.)
9T 10 : ST o THTHAT o AT T FUI ST | (Discuss the advantages of incorporation
of a company.)
el et I
(Foreel 7 It o St fifSTT) (373 15 x 03 =45)
T 11 : EdTd TR Sl sreat sht afeurfid i | S seara et et S Saretr wfed
IEEEEIENIS I (Define the term offer and acceptance. Explain the rules regarding

a valid offer with example.)

S 12 : ToRT IR H It ol AT H Tk o ST T SUANT ST fohall ST dehal &2 T
T | (Under what circumstances the right of stoppage in transit can be

exercised? Explain.)

T 13 ; WIEIER! BH § ST i a1 Rufd 87 3Taueeh & SIIEHR] U STaTtcdl F v
T | (What is the position of a minor in a partnership firm? State the rights and

liabilities of a minor.)

U3 14

WRT15:

IR ST AT 1986 1 fafir srl sonforat @ €2 T SUh o §9 §
ARERT & & i feafa & SuiehT 1 19 & & 9w 82 (What are the various
functions of the Consumer Protection Act, 1986? What protection does the
consumer get in case of a loss of rights as a consumer?)

AT o JTO-0 T ol @ Bt § 2 36e ol @ve 7 afed | st
fafr 9 ﬁ’q T 39T odrs¢ | (What are the contents of Memorandum of
Association of a company? State the provisions of company law regarding

alteration of its different clauses.)

O 0, 0
X R X X



> HETeHT W et sTanre | &t favaferemew, aut
TATA/ATNR TLHeaT 5[ - 2018

[T 2017-18 | TIATIT BTN ok oW
TSI T A9 . UHEU (T TUER)
YA G : 2017-19
-9 9. . THTH 406
SR O3 ST AT . ST AT ST T 0T o ST
Name of Paper : Management Information System and Computer Applications
THATET : 03 9 quTieR : 70
Frdwr : agfoeedia Tt ® o Tt Tvat, oY SRl T9t § | 03 I iR
eI U9 B & 03 AT o Seaw A |
FgTaRedr I

(@t IeT % e ST (3702 x 05 =10)

T3 01 : YT WWEFEQ{\ETRT Tefu foRaT TRIT 9N (Where was the first computer of

02 :

T 03 :

India established?)

(%) T renfireht e, feeeft (Indian Institute of Technology, Delhi)

(@) R fogm wem, @@K (Indian Institute of Science, Bengaluru)

S))] e AR TS @F{Eﬁﬁ, EFH{ (Indian Iron and Steel Company, Burnpur)
(1) A | Rereht T, etehaT (Indian Statistical Institute, Calcutta)

oY TEc! 9e8 T o S TUH Seiagi-eh W2l &l 19 &I 8 2 (What is the
name of the first large scale general purpose electronic computer?)

(F) TSHH (EDSAC) (@) UfUe (ENIAC)

(TT) Tgas (EDVAC) (<T) 398 ¥ IS T2 (None of the above)
freafefiaa & @ 1 o1 ®ive T2rga 92 € 2 (Which of the following is not a font
style?)

(&) TS (Bold) (T) HSHIHE (Subscription)

(M) ZefeT=h (Italic) () TR (Regular)

I 04 : T H g WRT JehI(Ie ol T el SITdT 82 (What are the many worksheets

in Excel called?)
(%) TFIA Ifie (Excel Sheet) (@) FHIME (Worksheet)
(T) T Fehefie (Excel Worksheet) () T 9 (Excel Book)



T 05

T 06 :

07 :

T 08 :

09 :

¥ 10

W11

T 12

I 13

T 14

15

. =9 TR Se geh FrefaiRad 9 9 R SRR o6 =T 31 YT 4 § 2 (Which of
the following types of information do the top level managers use?)
() TOHIfeR SRR (Strategic information)
@) 9= LERISIEEa (Operational information)
() (%) Td (@) ET (Both & & @)
(1) $TH ¥ 15 T2 (None of the above)
Y I 99T
(ToRme T AT o It A1) (37 05 x 03 =15)
HTShIATIE THIA U ST oo 3R ST fiheet &l ¥HSTST | (Explain the data
tables and data filters in Microsoft Excel.)
FHR S AT TG FIHT T o qedl ol Head fore=r shifSIT | (Discuss the
elements of the computer-based management information system briefly.)
EF‘?{\ZT o yrrfire ud feferes AHHY 9T YeRTST STfTC | (Highlight the primary and
secondary memory of computer.)
e &= o EFQLZT o 9T < fereremT ShifsTe | (Discuss the use of computers
in the field of education.)
: TTSShIETYE I H GEATAST oh foha aiieh & o feRaT ST kel 27 SEshT SAReaT shifT |
(In Microsoft Word a document can be viewed in how many ways? Explain it.)
el Seatia g
(ToRme T AT o It AINTT) (373 15 x 03 =45)
: EF‘?{\ZT HATR? EF'?a@T % gfaemd 1 TT | 9ui9 HIfT | (What is a computer?
Describe the history of computer briefly.)
 Torelt off T & YeEe AT JOTTel ST STTEvIeRal UF STeT hiciesh o Hecd i
TIGTET0T THETST | (Explain the importance of management information system

and data cycle in any institution.)

: Eﬁtagt gY< {[Frﬁ ! o™ & |¥9=MsT | (Explain the computer input device in
detail.)

: TSGR IS T §? ATSShITee J¢ W fohd ST At fofy= shrt ot wferd foraor
i | (What is Microsoft Word? Give a brief overview of the various tasks
done on Microsoft Word.)

o o A Tk e ol TRATNT Fd gY TRIA 2007 ST FRISATSAT i T3y |
(Explain the features of Excel 2007 while defining a workbook and work
sheet.)

IR AR
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et : Sgfoshedta ST H & @l ST, T Seaid T H H 03 T 3R

el IR T § /03 FAT o Ik ST |

FgIahRed™ T

01 :

02 :

T 03 :

T304 :

(@t IeT % e T (3702 x 05 =10)
g HEEE © S o= weft wereEt % fau Suenfir g e e ® |

( are the resources that provide utility value to all other resources.)
(%) ARE (Men) (@) gt (Material)
() TET (Money) (%) AT (Machinery)

TTSTeHeh forhr fsham & frfeifaa & @ 6 @1 fedemes 72 82 (Which one of

the following is not a stakeholder in an organizational development process?)
(%) UTEeh (Customers) (@) 3ATq(deRal (Suppliers)

(TT) T FEATT (Government agencies) (%) T W IS T (None of the above)
e e S wrafies e 2: (The primary responsibility for human
resource planning lies with:)

(%) THd GUTE Y& (HR Manager) (W) HeT9a 4 (General Manager)

M =W\ T T (Trade union leader)  (¥) ISR EDED (Line manager)

forelt T ® iendt o TTT STTa@ent o qeT ol Tarenféa sRa ot SIfsRaT i ST STTaT
& (The process of developing an applicants’ pool for job openings in an
organization is called:)

(%) IfT&moT (Retention) (@) ¥ (Recruitment)

(TT) T (Selection) (1) 378 | IS el (None of the above)



T 05 :

U306 :

I 07

T 08 :

I 09

T 10 :

11

12

T 13

U 14 :

T 15

freafafaa & & = a1 ufireror & fae o= 7€ 82 (Which of the following is not
true about training?)
(%) AT U STeuehTfeteh foham @ (It is a short-duration exercise)
@) I° ‘5@?&[ T qahteht € (It is technical in nature)
(T) I% G&I &9 § e eehi 3T THRTIET o foTC 2 (It is primarily for Managers

and executives)
(=) g fafSTe et hieret & @arfer B(It is concerned with specific job skills)

Y I I9T
(ToRme T AT 3 It A1) (37 05 x 03 =15)

S TETEE Y€ o &1 1 T Ji I | (Briefly describe the scope of

human resources management.)

. qTHE GETEH Y€ U TRl T e e fohe JeRR ST 82 (How is human

resource management and total quality management related?)
A GO S T T91fed S aTel SRt T WeTW Jui IS | (Briefly

describe the factors affecting human resource planning.)

: 1-foTauT it ST TS 3Tk el T |ied Juia T |(Briefly describe the

concept of job description and its elements.)

gSTeqor it T ST fireheT 22 TE ShISIT | (What is the relevance of training? please clarify.)
el Seatia e

(Rt <t STt ok Iea SITSTT) (373 15 x 03 =45)

HIS T T € h TIATINA ShiTSTT | AT GTEA Yol & o S& eehid T

TEATATCH 131 3T SeRE hINTT | (Define Human Resource Management. Explain

the managerial and operational functions of Human Resource Management.)

TS GO WS 8 37T FIT G0 87 FadT 1 RN TS Thid fohg Tahm

TS T WIS hl THId hid] 87 (What do you mean by human resource

organization? How does the size and nature of business affect the human

resource organization?)

. TG e RS 3t SATawehdT U9 7 W foRdigesh == i | (Discuss

the need and importance of human resource planning in detail.)
¥l ol TRTING RIS | fT o STeT U ATl S ol AfedR vl shitsg)|

(Define Recruitment. Describe the external and internal sources of recruitment.)

. W | uf¥teror ug TR sht s rrargaendr 22 wivreror ufskan & ufrerent s

“ifﬁh‘ri%ﬁ HT JeT HINT | (What is the need of training and development in
the organization? Explain the roles of trainers in the training process.)

AR AR
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> wgTent Wit stawrsdy fEt frvaferamera, aut
T/ URTeTT S - 2018
T 2017-18 & YAfTa S o forg

TSR T AT : Tl (faeftr o)
CIRERE] : 2017-19
Y- €. : UHTH 412
ST O <hT AT ;o werem
Name of Paper : Financial Management
TIEtY ; 03 9 qurteR : 70
o : sgforepedta ToAt & & At wo, g Searir TeAt § | 03 T o i Seadir
T H | 03 WAL o Iea’ ST |
Tgfaeeda v

(T TeET F 3qaT &11910) (3% 02 x 05 =10)

T 01 :

I 02

103 :

: Terefier weer o1 Sefemioter 899 ......... 21 (The long-run objective of financial

management is to ........... )

(h) el S TS SATrhad T (Maximize earnings per share)

@) %H o HTUTOT ik %u@ T ST HTAT (Maximize the value of the firm's
common stock)

(M forereT ot el 6t stfreRad T (Maximize return on investment)

(=) IR fEeaeRY Stfereham et (Maximize market share)

. TrAferfaa = @ st St srste wfsham a1 Sifam =0 82 (Which of the following is

the last step of capital budgeting process?)

(P) IS o fmtor (Preparation of Plan)

@) ISt T 19 (Selection of project)

() qATEeTor (Revision)

(=) ISl sl Afed &9 3T (Finalize the project)

qs EaRNI] 1'{:3'ﬁ ......... I Ggiid T 2l (Net working capital refers to ........ )
() Pt uftgafy =e st URE Y (Total assets minus fixed assets)

@) tﬁqﬁT Wﬁﬁwm (Current assets minus current liabilities)
(M Iﬁﬁ@ ufgaf e e HIeT (Current assets minus inventories)

() tﬁﬁﬁT giEafr (Current assets)



9 04 : Teh 3781 Wﬂ‘ﬁﬁfﬁ_ﬁrﬁﬁl‘"{ﬁ?ﬁ% | (A sound dividend policy contains
the  features.)
(%) ¢t st AT 9 (Gradually Rising dividend Rates)
(@) TRl T SATRT 1 fawoT (Distribution of dividend in cash)
(1) TR (Stability)
(1) ST @t (All of the above)
9 05 - fore tier & wforera o7t stfemreor 7€ g € 370 wfiet & (The ways in which
mergers and acquisitions occur do not include:)
(%) A ThIshTUT (vertical integration)
@) afest et (horizontal integration)
() faforfererTor (diversification)
() Gt AR (conglomerate takeover)

Y IR/ 99T
(foregf T STt o 3 AR (37 05 x 03 =15)

T 06 ;T Tl it TLUTATA STSTEITIOTT ST THEST | (Explain the traditional concept of
finance work.)

e 07 : geffafiee 3 100 €. 3wt gfed 20,000 Tt 7ot fifid R | 37 o791 o1 adam
ISR A 160 &. T 3797 | O T 8 . ey 3727 it s foram @ | wwar gt
T AT ST 2 (Sudhir Limited has released 20 000 full sum equity shares of
Rs100. The current market value of these shares is Rs. 160 per share. The
company has paid a dividend of Rs 8 per share. Tell the cost of equity capital?)

T 08 : “FHIARie GSft Al Tferehdl Ta =[AaT GHT ST-HNG & I' 36 S 3hl ST I |
("The excess and deficiency of working capital is harmful." Explain this statement.)

TRT09 : ggawwﬁﬁaﬁ tﬁf SATTTIHATH FIT 22 (What are the prerequisites for a strong
dividend policy?)

9T 10 : TiTera ua SATRIEoT o Scoeh el b1 aui ShIRSTT | (Describe the catalyst

elements of merger and acquisition.)

el s o
(oReet ot ST o e i) (37 15 x 03 =45)

T 11 : SATTYSHIROT & Ut shY TATHIIIRT T RIT TS TSl 22 ST SiIehor o Rl
e A | (What impact does over capitalization have on profitability of
company? Explain the reasons for over capitalization.)

TR 12 ; W T ATE0T 1 37 SHETST |6 e T STRIger shatdwhardl o ol i
e A | (Explain the meaning of merger and acquisition. Describe the
reasons for the failure of the merger and acquisition.)

T 13 : ISft SsieT T 22 Yt Sefe o T 3e¥al Sl AHTET | (What is capital budgeting?
Explain the key objectives of capital budgeting.)

YT 14 : Tford Hrisfier gsf o 2 wrfufier gSit st gaifed 5 el Tes ditwe ° 87
(What is balanced working capital? What are the factors affecting working capital?)

T 15 : Ararer Fifd o dieat ot Saredn HifST | 37 diedi oht SATerreret sht off s hifsg

| (Explain the dividend policy models. Explain the criticisms of these models too.)

O 0. .0
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> HETeHT W et sTanre | &t favafereme, aut
AT/ TLHeaT [ - 2018
T 2017-18 ¥ YA BT o fofg

TSR T AT : Hfie (fdar aaee)
I T : 2017-19
-9 9. . THUH 413
¥ 9 T A0 . foquE yeem
Name of Paper . Marketing Management
THATET : 03 9 qUTieR : 70
T : agiorehedta TeT H & At TEAT, 1Y e SO W 9 03 T9 3T e
eI U9 B & 03 AT o Seax A |
FgIahRed™ T

(@ft T 3 IR dfST) (3702 * 05 =10)
¥ 01 : forqur firsror 3T foham STTAT 8: (Marketing mix is determined:)
() IeqTEht ﬁ'g’ﬁ!ﬁﬁ forw (For the satisfaction of producers)
(@) frmfaratr ‘G@FQ % AT (For the satisfaction of manufacturers)
(TT) STTRTT 6T “Gl?\[j'\g % fATT (For the satisfaction of consumers)
(%) T T ﬁ@f@aﬁ ferw (For the satisfaction of Government)
T 02 : WWE}%W{%% (The tendency of Indian buyer is:)
() GraTSit T (To bargain) @) TaTerTrd ST (To file complaint)
() |&T GG (To purchase cheap) (H) I oeft (All these)
T 03 : H\Wﬁﬁﬁﬂfﬁﬁfﬁﬁ% (Price policy is determined by:)
=) el yerem g (Lower Level Management)
(T) HAEAR JeT e g1 (Lower Level Management)
() Il EECERAN (Lower Level Management)

(1) forshaTaT ST (Salesman)
Y 04 : AT Tl IeuTe B & (Mostly new products are:)
(%p) 318BT (Unsuccessful) (@) 9% (Successful)

S))] I1d-STSTd | (100% Successful) (=) ITA-STTT STEHE (100% Unsuceessful)

T 05 ;TS 3T giare 3R et frmfafaa oo st & & forerr fewar &2
(Transporting and storing goods is part of which of the following marketing functions?)
(%) HieT 9T (Negotiation) (@) e forawor (Physical distribution)
(1) U AT (Contact) (<T) Ot fieT (Matching)



T 06 :

T 07 :

T 08 :

U109 :

10 :

W11

TR 12

I+ 13

R 14

I+ 15

Y I’ I9T
(ToRme T AT o It A1) (37 05 x 03 =15)

“FoIuT 3 SATITRGE T TaerET i1 e 2 ST foh HTeT 3R Haredl < Jars &l
IcqTEeh | SUITHT Al 3T S ot 217 =men #hifsr) (“Marketing is the
performance of business activities that direct the flow of goods and services
from producer to customer or user.” Discuss.)
TSR v RehaoT o ST Sl SATEAT SHITST | Foref it ITHIRRT 3caTa =T IaTELoT
TSR S STTYTOT o IUANT 3l FATST | (Explain the concept of market
segmentation. Taking an example from a consumer product, explain the use of
this concept.)
Terqur firsror & 1o T THErd 82 8ok YW dedl ST Ui ShITSTT | (What do you
mean by marketing mix? Discuss its main elements.)
ﬁﬁ%%ﬂ?ﬂaﬁﬁwﬁﬁ‘oﬁﬁ? | w%e%sﬁaﬁwmaﬁﬁq | (Describe
physical distribution. Explain its objectives.)

3T SiTeI <5k ol ULHTING hITST | 38eht forfir=T srereesty <t samean hifsre |

(Define product life cycle. Explain its various stages.)

&rel Seadig v
(Formet i It 3 St €IfSTT) (3T 15 % 03 =45)

- foraor w22 smegfek T A forav % eed Y foeqa e AT | (what s

marketing? Explain the importance of marketing in the modern era.)

: Tk Tt S SR AT e A ST 9 foR Heshi sl e H @ =Tfeu? 319

e 2t ST o IcdTal ok e Feier o forw shi €t forfer oAt ferprier shiir e i
EHRUERIDEEE Il (Which components a company should keep in mind
when formulating a new price policy ? Which method would you recommend
for pricing the products of a new company and why? Explain with example.)

- STHITHT SHIGR H JTT T GHA &2 STHITHT TS shl THTeId S STed TEehi shl

EUEENSDE (What do you mean by consumer behaviour? Describe the
different factors affecting consumer behaviour.)

- Wfiferen Teraor womredt & s STTIrT 22 iferen forawor guredt =6t freriia s aret sreent

T Ui I | (What does the physical distribution system mean? Describe the
factors that determine the physical distribution system.)

: Ueh T 3UTE o Tarshrer <ht Tfsha ont THeEsy | F 9 & ST § i Ael19 3T

G T | ANTEH < 82 (Explain the process of developing a new product.
What are the reasons that contribute to the failure of a new product?)

AR AR
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> HETeHT W et sTanre | &t favateme, aut
AT/ TLHeaT [ - 2018

aF 2017-18 & YA BTAT & fow

TSR T AT : Hfie (fdar aaee)
I G : 2017-19
-9 G, . THUH 414
SR O T AT D A TR JeT &
Name of Paper : Management of International Business
THATET : 03 9 qurieR : 70
Frdw : sgfoeedia gyt & o Tt T9a, oY Seerid T9At ¥ | 03 T o

St T9t § W 03 T 3 ek T |

FgIahRed™ T

(@ft T 3 I dfST) (3702 * 05 =10)

99 01 : i< AT T qRAT W T T 82(Which is not an Indian Multinational Company)
(%) IS (Unilever) (T) T3 YgH(Asian Paints)

() fRm@(Piramal) (=) farsr (Wipro)

T (02: AR MR o TIT ST B a1l Tad oSt qHae o1 |18 & (The fastest
transportation mode used for international trade is:)
(%) @91 (Marine) (@) 91 (Air)
() T&(Rail) () 2 (Truck)

T 03 : ST IS hu-T STTT T T fohet IcTe AT T bl STl B, T S8 s SATaTteh
futert = IR KT Brar €, fore whed & (When a company makes a product or
service internationally, it must formulate a number of business decisions called:)
(%) faraur fisron(Marketing mix) (@) fau AeA(Marketing goals)

S} %CIUWTUH'ﬁ%T(Marketing strategies)(¥) %WQT%T(Marketing branding)

YT 04 : Teh STATILOT % &9 § ot STHT ST 2 | (Macro environment is also
known as J)

(%p)T ATdTUT(External environment) (&) 3JcI& AT (Indirect environment)

(T) |THT 1T (General environment) (¥1) TTTRAR STTaoT (Social environment)
¥ 05 : Jfiehor 1 379 2: (Globalization refers to:)

) ?\{I':NT W T AT (Lower income worldwide)

(@) % foraeft Smar 37T AT (Less foreign trade and investment)

(TT) TSI ATFHT 3T 3k T (Global warming and their effects)

(°T) Ueh 377k Wehiehdl ST STAIATAA AT (A more integrated and interdependent world)




Y e T
(et <ff ST o Seat difST) (37 05 x 03 =15)

T 06 : SATATHER =I5k shT fafer=T sTareemai &1 guid IS | (Describe the different stages of
the business cycle.)

T 07 : fogelt STeRT § Y99 % 999 €4 W S 1ol Hecd Ul dedl shi SATEAT I |
(Explain the important elements to be kept in mind while entering foreign
markets.)

YT 08 : ICUTE oh AW fIqur fisrr o Heeaqul deal st =mea HIfST | (Explain the
important elements of the international marketing mix of the product.)

T 09 : STTRSET FFE § Fhiwa (4T shl TTfard i Tt e Heeh 71 82 (What are
the main components affecting pricing in international business?)

T 10 : WA STaEeT o oo h UfshaT T HeATah ShITST | (Evaluate the process

of globalization of the Indian economy.)

&rel Seadig Ov
(Formet it It 3 St €1fSTT) (3T 15 % 03 =45)

T 11 ; ST 3 ST T T ST B9 ST TR H 8T hiA § A
Tt e TSN T AU FHITSTT | (What does the internationalization of business
mean? Describe the main difficulties in doing business in the international
market.)

T 12 : ST ATATIROT H 3T T THI 22 ST SATTETIh ATATeoT o o=
TehT Shl SATEAT SHITT | (What do you mean by the international environment?
Explain the different components of the international business environment.)

T 13 ;R oh! AU SATATA-Fara i il S forRaret s Jui shifsrg aom TR
STAIEEAT YT ek THTEll shl SITEAT ShITST | (Describe the key features of India's
current import-export policy and explain its effects on the Indian economy.)

T 14 ; STAWET fIqur & et o 1o 22 afies Smadnfies gergat fafv= sremi
Eal FL\FEITEFT forE YT et 22 (What do you mean by international marketing? How
do global business units evaluate different markets?)

T 15 : R T 2 fieRtor o IR STefeuawet W U aTel ATehRl U BT
JTET Y == hINTT | (What is globalization? Discuss the beneficial and harmful
effects of globalization on the Indian economy.)

IR AR
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> HETeHT W et sTanre | &t favateemew, aut
AT/ TLHeaT [ - 2018

[T 2017-18 | T BTN ok oW
TSR T AT : THfie (fdar aee)
ST 9 : 2017-19
-7 4. : THUH 415
Y 9 ST A . ATl FTaTeRe
Name of Paper : Economic Environment
THATET : 03 9 qUTieR : 70
g : agfoeeda TvaT § & At T9ET, Y I T | 03 W9 SR Er
JEA T9TH & 03 T9AT 3 Ieaw ST |
FgIahRed™ T
(@t IeT % e dT) (3702 x 05 =10)
T 01 : T 3T & frfauet W smrenfed weh stifdfe ommett 2 1 ( is
an economic system based on the principal of free enterprise.)
() C[\Glf']a'l'd (Capitalism) (@) 9HTSETg (Socialism)

() Taf3ra srefeaeem (Mixed Economy)  (9) WT&EaTE (Marxism)

T 02 : WA it T FSE ... % HTEAW H T ol foreh{od T = § | (The

Five Year Plans of India intend to develop the country industrially through ....... )

(%) TSI &7 (The public sector)

(@) Tsft & (The private sector)

WEIEEIEEMREEIR lil?g?ﬁ 3 TEHR &AT (The public, private, joint nad
cooperative sectors)

(5T) HAYSTEH YA o BT sIgd &AM (Increasing collaboration with non-

resident Indians)

9T 03 : YRA | SATSTAR ITY ST ATt SISTTY o Yoh R okl 36 Yok afuid fohaT STT EehdT &

T304 :

(The type of unemployment mostly found in India can be characterised as:)

(%) WCEFTeH (Structural) (@) gfeeTeTe (Frictional)

(TT) =R (Cyclical) (&) =81 (Disguised)

FEEHTE 3R g oF @1 qeae™ R 2: (The headquarters of IMF and
World Bank are located at:)

() SieaT IR Hifeeaa & (Geneva and Montreal)

(@) SiHaT 37 fRFT & (Geneva and Vienna)

(T) =Tk 3T SHaT H (New York and Geneva)

(1) AR St H ST (Both Washington DC) T ST ..



T 05

T 06 :

07 :

T 08 :

I 09

¥ 10

W11

T 12

I 13

U 14 :

T 15

. fafafea & @ 57 e & fou @gde s1fvemd 22 (For which of the
following industries licensing is compulsory?)
(p) TS (Alcohol) (@) a1 (Tobacco)
S))] LEHY (Drugs and pharmaceuticals) ©)] W’ﬁ?ﬁmﬁ (All the above)

Y I 9T
(forgi <t il o et dHSTT) (373 05 x 03 =15)
AT ITATAT T 3ok el T ool hIFSTT | (Explain the economic
environment and its elements.)
Bfa serf R 22 39 I AL foRaT T2 (What is Green Revolution? Why was
it implemented?)
& STEG T T 82 STk WA STefeareell X UgH aTet YT 3t v i |

(What is regional imbalance? Describe its effects on the Indian economy.)

. LT o AT SRR i il T foRIsarg &1 82 (What are the key features

of India's current industrial policy?)

: Tarprarefier gumt st foraeft IR wereft aweme o (What are the foreign trade

related problems of developing countries?)

&rel et TvA
(Formet it It 3 St €fSTT) (3T 15 % 03 =45)

. TR ATATeRT 1 9T S ATl dcal ST g9 HINTT | (Describe the

elements that affect the economic environment.)
- W St o FAmior  fohT shTeht ohT INTETH T © 2 i@ ShITWT | (What factors

contribute to the creation of human capital? Explain.)

- T T T hT THEIT 67 I ShISTT | 39 THET ST THTE i o foTT 3119 s

AT & (Describe the problem of poverty in India. What would you
suggest to solve this problem?)

SR SR T 22 STk ST ot sk T 3o i o foefT TEhr e
ST ST 33T T heHT Y ST T | (What is industrial sickness? Explain
the steps taken by the government and banks to prevent and cure industrial
sickness.)

: STATSEI HET I shl TATHHT AT 85 off? T 79 A& H Fgl qo T & I &2

(Why was the International Monetary Fund established? How far it has been
successful in its goals?)
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